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L = 2014 % Wiy m' y L] ‘
(1) . T i “'ﬁ\rﬁﬂ 'mumt Atission Indradhanush’; launched in the vear b :
Srerthen ) e vy 2014 s g
Famd o T Bt i
e e (1] To provide affordable and quality | 6. ‘ﬁiMMlmmwmmt, ’
2) wfamesiie Toren o healthcare to the rural population. () faeie ' ? 6. What is the full form of MAA’ programme 3
(3} w‘ﬁwmﬂm i {2) To provide education to the deprived ‘ - (Wen oz spdvita) {1 Mother And Adolescent
- Hrvasma ¥ g children. §  wfes wh whinit A (e 2)  Menstrual hygiene Among Adolescent
: T, WWM = T [3) To provide information, commodities i T it i ’ girls
1 8 Tt S $  o— and service to meet the diverse need of " Gai G)  Mother Aftecth
B en g g w a;gzm wry SO W o eI ? 141 W ::jm
(5) ¥R B ey e {41 To cover children who have been i ) T e (v itz s g i Matwation
; ﬂh.af 1 partinlly or not vaccinated during ;- (5) ol ¥ ey (51 NotAttempted
. - routine immunisation rounds. Ay, C
P T&ﬁ % :"5“““! - WG e FHEY A (5) MNotAttempted e ] S — b 7. :’:1:“ [:sl:?m‘m Islamia University situated ?
: [}
(1) sifem Appam, Puttu and Idiyappam - food items, { il (2) l_uckmswl
\2— = belong to which State of India ? @ s {3 Aligarh
R RPN g o SR o b
LI : o (® i ' (5] NotAt
(3] Punjab g empted
{5) o W EoEmd {41} qu]arai i 5)  wE A E R
. 2 What is the radius of the earth ?
3. CE R aRad € {5)  Not Attempted : o
8. yEIRfFmemi? (1) 9371 km
1}~ &=
\:/2’]/ ;s %ﬂ.n ‘CE refers to: {1) * oaz1 fsd. 2) 2371 ke
G Tt P A :;: S @ 2371fest . - B e¥km
- : asual Era : W {4 B3T1km
Y il e = Nar” sanifes. P <ol o
5} TE = & e (4) Common Estimate (%) 8N i
{5)  Not Attempted 8) e R Ay 5 b
' A A > per Census 2011, the literacy rate in India
4, g Profafee § A fegm o w ot A
Fupn ST e ? bl ! Lugda’is a kind of which one of the following 9. TEE 2011 % SR, e wea v
' that is worn in Chhattisgarh ? (1) 880 W £ 588
Vg (1) Ornament @) B30 @ 830
2 @ P, g {2}  Footwear - 730 @3 730
(3 wrE (3) Saree @ 780 @ 780
@) 9] (4 Dienn (5) s T (5)  NotAuempted
5 T 7 & 9w (S5) WMot Attempted
: 3 7 . Whoist : - ‘A Hi
'ﬁ{’ v wra & feg oo ¥ 9 g ‘Bihu' festival is celebrated in which Indian 10. “fifen v . ¥ b i % e 7 = ng: 33;??“ of the-book - ‘A History of
w5 g State ? (1) @EnEaE S sl
) (1) Uttar Pradesh @ wWEEH 5 e
W HEH M * B (2) Assam o e e ﬁ%‘ C @ Lord Curzon
(3 weE (3) Karnataka o ) (3] James Mil
(@ e @) Punjab @ A dEE () Warren Hastings
(5) W TE T e (5) Not Attempted {5) IO e {5) Not Attempted
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11, Forvs ot feaw wery @ 11, World Environment Day is celebrated on : 16, Frefef § 8 wl-m wef yefa @i 87 | 16 Which of the ﬁ;lluwing is mot a terrestrial
“) 5 15—(-175' L 1) g5th J\]b' i”‘ w.&.' habitat 7
7 vl :jl T July ‘E“ Bt { .i) Rainforest
/central-bank-ofiifgia-a re pra © o
. {3) Pond
ttempted p p (4] Desert
(8 I D 15 Tt A8 &0 A B Mok el
12. wdE wEn & wew nel-uens & v fesi el | 12 gchn served as free India’s first Governor- e e fonch. Frae
e neral ? 17. % 1 P W BT R WL, 17. 1t kid ing. T
e s (1)  MaulanaAzad _ T 1w e ) fneet v e 8, av o a0t AP e thid oot 1 Mirer
i2§ it 2} Jawahar Lal Nehru Fifira 7 v wwa a@E wiEa wEER ¥ by artificial kidney. This process is called -
) (3] C.Rajagopalachari ) (I e {1) Transpiration
- il Pre. C (4} Sardar Vallabhbhai Patel @) fw (2} Elimination
(4) EEREENE T [5) NotAttempted @) st M D (3)  Excretion
(5) = A A wwa {4) Dialysi
=rferas i
! 13. The earth is surrounded by a layer of gases il (5) Not Attempted
13. gt & adl s fomwm @ wed ¥ . called : 5 T
ez (1)  Atm . o -
U:’ ey 2 Ciix:::;hm 18, frofefon 48 @ woelt @ Pl gy | 1% Yo of the llowing ismot the characteristic
!
@ o . A (3)  Ozone | \py e frg i et o S i {1)  Long backbone with cylindrical body
[4)  Environment U R E T v A gen e ol fo w (2) Head and tail smaller than the middle
@ ] ) (5) NotAttempted o : i TS ot Rk portion of the body.
B I & el 3 e (R et {3)  Presence of fins
16, SRa ) firg ad v w7 14, Which year did Indiz attain freedom ? ' @ fedsfd e f (4] Presence of gills
\E—1947 1 ! (5) v T (5 NotAttsmipted
@ 1951 @ 195 |
{3 1930 . A (3} 1930 19. frerfefey 31 wifea = 19. Maich the following :
) 1952ﬁ — {:} r1:350 . ] m m L) _ m
5) T i 15} ot Attempt (A)  THEEE q)  wEERE {A] Lamina Il Weak stem
1. Frofofen 3§ & wh-w st o GO WS | 10 iy one of the following refers to the . " . {[2], ::21, i:lll Seis
fopaerdl # g fn rn fords siada w=ll #1 T programme introduced in all government 0 wiEm (1w
w0 v waE fea amEy elementary schools to provide children with D) fami e v ™ (D} Creeper IV} Flower
" cooked lunch ? \
4 Save A (1}  Beti Bachao, Beti Padhao : () (A1), (B)-(1), (C)-{iN), (D)-{1) () (A-AV), (B)-m, (C)-m, (D}-)
@ b Bow s (2) Sarv Shiksha Abhiyan (@r 1A, (B, (©)-0V), (D)-0) (2 (A, (B)-(), (C1-AV), D))
[3; wfeen e ﬁw e R {3 Mahila Samakhya BT (AU, (B)-(1V), (-1, (D)-() (3 (A-(m), (BI-{IV), (100, (D))
g 4) Mid-day meal @A), @, (©)-(, O)-(v) (@) (A}, B)-(1), (C)-0), D)-V)
v (5)  Not Attempted e L B SR e C (5] Not Attempted
VNATH/F1 T @1 B fere 229 | SPACE FOR ROUGH WORK Page 4 TR 7w 372 & e 21/ SPACE FOR ROUGH WORK Page 5
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20, frofafes ¥ # fevd 37 § 9re 0 i fem

20. Yeast is used in the production of :

bl ik

aWE? (1) Alcohol
@ R {2)  Hydrochloric Acid
(2r eEEEE {3) Sugar
(3 = fs - 4} Oxygen
(4} ity ﬂ 5 Not Aitempted
(50 T M uwR
21. D.e.’icz'ency of ... causes beri-beri
21. W & @ 40X dnvd g :’f’z“ﬁ"‘mm y
(r  Refec {2} Vitamin D
f2) feaiED (3 Vitamin A
(31 fEEfEEA 4 Vitamin B1
\3- feafme) A D {5] Not Attempted
(5} TR Emuwn
22. Match electrical component given in |
22. wiW-1F el @ fagn s W wiv - 0¥ kg Cnhunn’ l-] ‘I with the symbol given in
m = % : Column - I Column - II
b w1 {A]  Electric cell m A~
(a) fag@Eds 6 i
T @ (8] Switch in ‘ON° () @
position
(€ fogea= ) (C) ElectricBulb 111 —
D) F=H ™y - D) Battery W) —-
wEl fraen g Choose the correct option :
(1) {AJ-GV), Bi-0, (C)-{11), (D)-(1T) (1) (A)-(IV}, (B}, (C)-01), (D)-(IT)
il o A g g D @) (A-aV), (B, (€)1, (D))
B it @ (A1, (B, (€I, (O)-V)
{A)-{tH}, (B)-(1), (C)-{IT), (D)-(IV} ) (A)-QI), B)-0, (-1, (D)-(V)
5] m qﬁ &‘n m i l ] '( » }‘ » .
‘ A4 D (5) Not Attempted
", m Gl mmt: 23. Hepatitis ‘A’ is caused by :
G W (1) Fungi
(2) wEsIen (2} Protozoa
@) s fns. D (3) Bacteria
W~ faumg (4 Virus
(5) 3E I &R (5} Not Attempted
Page 6
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24, TF TEH WA g @ v e 7 g moam | 24, A boy is standing at a distance of 50 em from
i mmm#ﬁwMﬂM? the plane mirror, What will be the distance
(] So & between the mirror and the image ?
G 98 11 50 cm
it [2) 7Sem
\j:;, ;20 " Py D 3 100 cm
icicied 14) 25 em
(5] 3 AE & e (5] Not Attempteq
25 #2016 0y weaR Y T fe W i ;
PR PSP Su— 3 ﬂ‘l'bcym?ﬁ!é,_thcﬂnvmm:moﬂndmhas
A formds s initiated a m called under
& fFm mn £ ma proper Sewage disposal have been
e Wi 4
\v-‘:‘;:/ syt Y [1)  Swachh Bharat
@ s Are- Q (2} Namami Gange
@ = 3} Ufjwala
g S - (4)  Udaan
{3)  Not Attempied
26. = i F s % s i fa
s F STEvEE TE o B 26. No medium is required for transfer of heat by
) : the process of 5
; (1) Convection
\-g:/ 9% ’B (2) Transpiration
W - (3) Radiation
(6 v {3)  Conduction
{5)  Not Atternpted
27. a @ BB Al srafrat
f 27. z and are water borne
iseases.
(1) et ol g
(1)  Scurvy and Cholera
[2)‘ i m;t‘*ﬁiﬁ (2)  Polio and Rickets
(@r eEwire s A (3) Typhoid and Meningitis
L™ dt-ddsidfem  Pyw. X3 (4} Beri-Beri and Dysentery
(5) I T e (5) NotAttempted
28 yFfMaw__ dvmaE 28. Earthworms breathe through their
o m"ﬂ ‘Bﬁ_ ﬁ (1) Gills
PY"‘ . (2) Skin
(3) - FwI . (3) Lungs
(4) vamfadl {4) Tracheae
(5)  wAH & AwA (5) Not Attempted
VNATH/ F1 T el % R 22 / SPACE FOR ROUGH WORK Page 7



29. sl &1 we o] @ e b R w9
e v D '

(1) #m
(Vg o
@ = Prs R
4 wifrmwm

(5] =9 58 ¥ wmd

30. ZEUE W URAE wE am )
(1) wsE
(2)° swEm
@ wm %D

Vi feemm P’
(5) =u T owwma

31. Tawm % = oifem .
{1 =g
B3 wEE '
4] e
(5] T TmaEwd

32, %A i IEE w2 Frepd 1 i feu o ¥ | fen

TG FE 1 T G AR A W T 9 A
oo @ =41 7wl 917 ¥, Pl =% s ¥m-T/Q
Frrerd fe sl & smam o AT wYE Fraea
/e ¥

W

Ll e R

T FA WIS

Frepd ;

L Y SFE s

oL FeFaaEREl

(1) frewd 1 sheon 3 faem €1

(21 A freed 1 ol s € o e &)

(31 e fred 1 fEem &)

Vs e freed o frrem 1

(5] AT P 1

31.

The property of metals by which
beaten into thin sheets is called

(1}  Ductility

{2) Malleability
(3)  Conductivity
(4)  Reactivity

(5)  Not Attempted

they can be

The SI unit of mass is :

{1)  pound
(2) ounce
(31 gram

4] kilogram

(5) Not Attempted

Find the odd one out :
(1) Potato

(2) Tomato

(3) Ginger

(4) Carrot

(5)  Not Attempted

- Two statements are given, followed by two

conclusions I and II. Assuming the
statements to be true even if they seem to be
at variance from the commonly known facts,
decide which of the conclusions logically
follow /follows from the given statements.

Btatements:

All animals are dogs.

Some dogs are dangerous.
Conclusions :

L All animals are dangerous.

IL  Some dogs are animals.

{I) Both Conclusions I and II follow.
{2)  Neither Conclusion I nor 1I follows.
{3)  Only Conclusion I follows.

{4)  Only Conclusion I follows,

{5)  Not Attempted

VNATH /F1
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3a. mn%micwﬁ TRYHW'
feren S & @ 3 v ¥ wpE W w0 fen

w7

{1} KLEI

2) KGEF

(3) KLEF .
e prs-D
(5) I T Tmam

34, U =i IR fom A 0 ok ww ) aw A
fewm ¥ 135° 93w &, 3w ww ofgonad fogy 5
90° qE e &1 31 e Jg Form e @ & 7

L Iw-tfEm
{2) feEm
@) W

fvs- P
4 "
(5) E A R

3. AQ, REPEFPH wE ¥ A0, RA
W waifir 2 B

POl

(2) /e s - P
B w

4) ==/E

(5) T T

36. A el sl & woe ) srerafom wn # fon
¥ womsll ¥ su wdw w1 w9 w1 fae sen
e Y e 0 VO S e wd )

C P K T 0 B
1 2. 3 4 5 6

¥ 2,5,1,3,6,4
(2) 4,1,523,6 ﬁhg
3 3,51,4,2,6 ﬂ
4 2,1,536,4
{5) T TR

33.

34.

If in a certain code, ‘COVET’ is written as
FRYHW' then how will HIDE' be written in the
same language ?

{1) K

{2} KGEF
{3) KLEF
(4) KLGH

{5)  Not Attempted

A man is facing North direction. He tums
135° in anticlock-wise direction, and then 90°
in the clock-wise direction. Which direction
is he facing now ?

(1} North-West

2] West
(31 North-East
{4} North

{5) Not Attempted

.11 Q" is brother of son of R’s son, then how is
‘Q'related to R 2
(1) Grandson
(2) Cousin
3 Son
[4) Uncle

(5) Not Attemnpted

A set of English lctters is given below in a
Jumbled order. Select the combingtion of
numbers so that the letters arranged
accordingly will form a meaningful word.

cC P i — :
1 2 3 4 5 6

1) 2,51,3,6,4
2) 4,1,52,36
(3) 3.5 14,26
4 2,1,523,6,4
{5/ Not Attempted

VNATH/ F1
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ay. o v faindter w deu gh A &l v o
Ty waitra &7

L}"
2 Hm#
{3 =WH

(4) WFER 9%' R
5y e R e |

E ko

3. wfE fipdt e H 25 s @ Tean B @ wE wds

Firwd wireram ¥ 2
(i 4

2 6
3 3

vaes D
) IHIEER TR

9. #H MHWIW‘W‘&‘- T e

11.12,16,25,41, .2 .

(1) o9

@ 72

31 65

ol

(5] FEUAE T Emd L

40, uiasia, B, C, D W E T E 3N e E
e w § S snaers 9 E el m A @
o, ¥l s@ncsioa, Fad sl oA sD'E
WFaderasnt g AR

(1 B

A
@ E P”"ﬁg
@ c

(5) I & A

3.

39.

Kilometer is related to Distance in the same =

way as Newton is related to :
(1} Force

(2) Momentum

(3 Acerleration

{4} Density

{5) Not Attempted

If 25% of August in p year is Thursday, then
how many Tuesdave will be there in that
month ?

i 4
2 6
3 3
@ 5

(5) Not Attempted

Find the next term of the series :
1Y, 12,16, 25,491,..2

(1} 69
2 72
13) 65
1 66

{5)  Not Attempted

Five children 4, B, C, D and E are standing in
a row, facing North but not necessarily in the
same order. ‘C'is to the right of ‘E’ and to the
left of ‘A", ‘A’ and D' have one child between
them, Who is in the middle of the row ?

{11 B
2 A
3 E
4 C

{5} Mot Attempted

VNATH/F1
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| g3, T e ) B sual St A 5 B st ¥

44,  TTHR = E] TR e wd of 12 adf dmmd e

e g 550 W Fwh | fiee ¥ e ae § e
wEae 33 el Wi ghias fee A m wrfi 81 2%
w1 Tifa i @ e

1 3:5

@ 5:3 C
3 3:4 .
T 403 M

(B wECTH

42, A5 {28 - (37 ~ (15— M) =58 %, @A T AW
e
(= 19
@Y 29
—29

4 - 19 M.C

(5) e ey

afe dera w1 W P8 FEE 702 Wi i E A
o T (5 W 2) e

\HTT 5544
{2)- 5306
@ 5712 Pmﬁa . P
@ 5244

(5) SR T Ama

41,

42.

A truck covers a distdnce of 550 metres in
1 mintute whersas a bngs covers a distance of
33 kms in 45 minutes. The ratio of the speed
of the truck to the speed of the bus is :

(H 3:5
2 5-3
*H 3:4
M 4.3

{51 Mot Attempted

{45 — (28 — 137 = (15~ 0)| = 58, then the vaiu®
of s :

(1 1@
2 29
3 -26
4 —19

(5  Not Attempted

The radius of a cylinder is 5 cm more than 118
height. If the curved surface area of the
cylinder is 792 cm?, then the valume of
eylinder (in cm?) is

(1) 5544
{2) 5306
@) 5712
#) Siaq

{5) NaotAttempted

At what rate of simple interest will a sum of
AT R A ¥ 7 money doubles itself in 12 years ?
1
- 1
(1 82_ i} 8-5%
(2) 5 @ gk
3 8l 1
@ s P’,np @ 8%
1
ity
Ve 8 (4) 313%
(5) I AE & e | 5] Not Attempted
VNATH / F1
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45. @ wwm o _g_ﬂ‘ﬂm‘l‘it: e gmmdm 159, | 95, Two numbers are in the ratio 2 : 3. 1If their
At g . sum is 125, then the numbers are : 49, 2 wums # HCF 28 ® o ww Loy 336 % | 99. Thelop
\ L) of two numbers is 28 and their LcM
\ " 50,75 ) 50,75 3 % o e 112 §, # guf e g 18 336. [fone number is 112, then the other
e M pf @ 24,36 RV osad. :
::: ;‘; f: 31 20,30 j 2 92 a4
i
. 4) 32,78 ﬂnb » 'q 2 9
5w ¥ & = *
{5)  Not Attempted ! 4) o4 il
i M B4
46, ATWMBAwTm. ¢ ; i B) ot
%:!2,500 MY 35.000 AW, | 46, A and B started a business by investing {5)  NatAttempted
O R WO 6 ¥ 27,600 ¥ $Remipw 22,500 and ¥ 35,000 respectively. Out ofa | "
k. total profit of T 27,600, B's share is | L B0, HEVUE W § BRI UF 99w 1w un
W T 16,800 {1}  T16,800 : 20% w e o emd T Leo0 fond ey g | B0 Arun buye a pair of skaes at a sale where
2 T19200 Ay %) 2) 19,200 B Fr-3h vfe W7 F 6 AT W i g e ocount gven is 20% If the amount he
3 10,800 {3) 10,800 ¥? Fﬁg‘i mriiéfm' e iy i
{ 800 , ma ice of the pai
" X 14.40(3 4 T14,400 (1) 1920 i = 1‘92:me i e e
(5) ST N wed (5)  Not Attempted { 72,000 3
: Pns: @ 22900
: ; } N i (3} ¢1280
47. Tfe ffﬁ S & ot o e aan s g, 47. If the length of the diagonal and the area of a 4) 21,600 =
25 WL AW 168 W W § @ svran o o) e rectangle are 25 m and 168 m? respectively, - e 14 71,600
$. then the longer side of the rectangle is : i ©) X (5)  NotAttempted
ST (1)  24m i
A ’J;ﬂww 2 3m %31. A A, B W 20% FH wE wn E ) A A B, does Bt :
. Sl s 20% less work than B in the same
@ ; B 13} 12 m % wmﬁ?%ﬁﬁwmmtﬂﬂmm time.  If A can comiplete a piece of work in
3 oW 1’,),,&9 W 1Tm f ) e v F o Fem? 7% hours, then B can do it in -
@ 17 (5]  Not Attempted 3 AT o (1) 6hours
(5) wETE & A ! Q) 6w ﬂ (2) 6% hours
3
2 Mb Sh
1 2 2 a8, 0 Xw .1- then the value of x4 Y. is: 3 sw i e
48, uﬁ_{:mt,ilf_f_*_y-mw-rm: -y 4 suw ##) 5% hours
y 3 xS — 4 5)  NotA ted
Lk {51 o & it
\ a3 W R
4 52. Qu selling 17 balls for € 720, there is a lo:
-5 52, 17 T T 720 § 9w w, 5 W & wn g ¥ eqqanmnfhemapﬁceorsmm. Thcl:o::
& -5 PJ @ wua e ¥ w iR weg el price of ane ball is ;
3 .
P’. A2 {1 255
- 10 -1 e g 2} 60
@) (3) 4 \,ﬁ!/!su W . 12)
9 (31« 245 13) 45
. 5 @ % 4) 250 {49 T50
( a e— | (5) e el Ewmed) {5) Not Attempted
o o i
(5) ‘wer TE &M A [:lcuGH e Page 12 VNATH/Fi 70 1 % feu zemrat | SPACE FOR ROUGH WORK
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53. =ik 1*2_5...=;*.i_&'€ﬁrﬂ‘?ﬁm:
144 12
t1)- 13
2 17
v Ppse C
4 5
{5) Il garann

TR - | e W gE 15 i faehs # sats
WA - 11 % e o e T 20 i fasmm § a1l
ST W & A #0203 0 fersrn e €, 6 fiaam
w1 win feiom gea d

(1} ¥1850

2y T19.50

Lo Tis ﬁ,ﬁ,C
4 T19

5) e e

156, Choose the correctly spelt word.

25 L, then the value of xis (1]  bumoros
G \‘{I a 144 T 12 {2 humarous
{3) humorus .O
L AT humorous M
L . (5 NotAttempted
@ 7 'B7. Find out the antonym of frequent’,
g (1} fear
&
(3 1 i (2) alarm
1 i A AST  rare 9"3 .
4 5 4] return
(51 Not Attempted

{5} Not Attempted

&

The cost of type - 1 rice is ¥ 15 per kg and of |
type - Il rice is T 20 per kg. If rice of both g
types are mixed in the ratio 2 : 3, then the |
cost price per kg of the mixed variety of rice
18

() 71850
@ 1950 =
@ 218 ° e 5 : 5.
@ 19

(5) Not Attempted

! a snake behind him, “i gq:]s’
i sk sl s [3)  Shakti told his friend to look out as g] Pgns s D
; ; ; ; BS. The greatest number which divides the re is a snake behind him. ; w
3-3ia Tl 9 em sl 4-sf wad g wen greatest 3-digit number and the greatest \Aﬂ/;;blfskti exclaimed to his friend with 4" QPSR
) farvifors w0 e T Wt e & 4-digit number, exactly is : surprise that there could be a snake 15)  Not Attempted
behind him. A -
‘ 64. Choose the correct alternative to improve the
{1 8 {8 (5)  NotAttempted WV D underlined part of the following sentence. If no
i @ s £0. Fill in the blank with suitable alternative, _SETCRNEED IS IRt pove SEanor L0k
U}’" ; {; You will not overtake him unless you Passengers are requested not tosit on the floor.
@ 3 B" 2 & 3 (i} play (1)  requested to sit
4]  reading . D (2)° No Ilmprovement
i @ 7 3) _steep o () tgnot sit W- :
5) :aﬁs&:ﬁkl yd Mnm s
(5) WA T (S Not Attempted Rk =z : ) _NotAttenpind
R T i 5 TeT0 2enel | SPACE FOR ROUGH WORK Page 14/ ATH/F1 ¥ w7 ¥ fove 211 / SPACE FOR ROUGH WORK Page 15
J%W
ad qa £

a0 q

Choose the alternative which best expresses

the given sentence in Passive Voice.

The accountant took the cheque from the

customern.

(1) The customer was taken the cheque by
the accountant.

(2)  The cheque had been taken from the
customer by the accountant.

(3] The cheque is taken from the custamer

by the accountarnt. 3
W‘The cheque was taken from the

customer by the accountant,

{5} Not Attempted % .(j)

Change the following sentence intop indirect

speech,

Shakti said to his friend, “Lock out! There is

a snake behind you".

(1) SBeeing a snake behind him, Shakti
asked his friend to look out.

{2)*  Shalkti warned his friend that there was

61,

62.

63,

Choose the alternative which best expresses
the meaning of the underlined idiom.
They sold their old house because it was

a white elephant

{1}  very comfortable

{4} collapsing

{3)  very large L D
useless Q'V\b

)] Not Attempted

Find out the synonym of the underlined word
in the following sentence.

To travel hopefully is a better thing than to
arrive, and the true success is to labour,

s D

{2) careleassly
(3) _ rationally

positively
[S) Not Attempted
In the following question, the first and the last
part of the tence are bered S, & Sg.
The rest of the sentence is split into four parts
and named P, Q, R and $. These four parts are
jumbled. Re-arrange them in correct order.
5y - Even today in many countries
P - neglected and there are far
Q - women continue o be
R - who have had the benefit of
8 - fewer women than men
g - education and vocation training
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Neemrana comes under which State 7

. : 2 Jaifn €7
85. Pick oul the part of the sentence which has an | 70, 'fa W # 5@ Wi W' we ¥ - ] 76.
error. If there is 0o error, your answer is (2) waffirs s i w ¥ - - Pen v & ¢ (1) Punisb
This i the third communication | have sent / ) s s i B Uikt
(A ¥ (2) IWETE
i (2 Sl C, 3} Rajasthan
and | am much surprised / m&m MC Wm { i
s {b oy
. o o B
at | n:oewmaz?mnpm_{ ) m?ﬂ?‘ﬂml .. ©) T {5) ot Attemp
{ o 5w
\x (©) 71, fom g & ggEn 78 AR . e = siithe
@ Koo PP o o 7. Tt 3 8 e 1 e s | 7T e groving i R ¢
{ { i kel ?
w(ﬂ, . (1) Ambala
;;f gsﬂl{ Attempted :ﬁ:* w m‘ i 2 Rewari
; 2 :
66, 'Fwl T o v O qeEt W weitew wyea o (5)  se el & e . _ :‘s: ﬁmn Wg ::l 2::: '
8- 2. ‘Fesnm’ Fdm @ o aen wEiieE 9 = 0 e (3  Sonipa
\MT SR N SaE t- ‘ - - (5] Not Atternpted
2] iy E W Y 5) I |
[r:-!: sfipeies == wrn) Wr ﬁ U" Prawen . 9 . 78. For the fnancial year 2022-23, what is the
L BV‘b 78. faw ad 2002.23 ¥ fo, wivaen 7 § e & percentage of the total expenditure allocated
(4) s s ®) Ty T (@ e T et et 1 ﬁ PR towards Health in the Haryana State ?
5 s (4) Fasmem a) 8.5% ik i {4 B85%
67. o frs fawey & arm = gw = 9@ E 2 (5) W T & A | {2, 5.8% @ 58%
(1) w e A R , 7a. ﬁqmmmi{ﬁ_ﬁf%z“” 2% P - 'D @ 1e2%
s am e 2 i o 6:2% 4 6.2%
(3) W S st (2) O C 5) A ¥ (5] NotAttempted
(4)° wge Wi T g (B yeF M |
(5) T ¥ {4y SR I wftamn F fead faa #7 79. How many districts are there in Haryana ?
v Sy o & i e’ 2 forg, Wi 29gw il i f ol 23
gl pewfedl ®) 1 @ g W ) wa e R ) 24 0 B 24
":‘f_ i 1 ! o an% @ 21
@ i C B = T s
(2) W A \/Iﬂf HHAHT ST & ! ] {5}  Not Attempted
\iar~ e (3) T IR W . g P
(4) iV s i 80. fisin @ wrelm e 1 warn 23 % fog whrad 4 oy "
{5) e ¥ Awa f 3 TR T amy § v el o i farea e | N e muciea) Elaiagedl Pisjoee,
(51 I o darana ; two festivals are held every year. One is the
69. 'WE'vERE M A T e e T - o5, W AT W e w e ) & 7ur0 weeeA w0 § m“ﬂﬂwfemu!“whwhmthemand
. T HEreE
U g o (1) e e wm| - \":'/ 9 1)  Mango festival
@ TeE B.W . P' UW oy wa A 2 w y Q e ‘)Va-‘ {2) Lemon festival
B G TR A 3] B B detied
@) wEH (@) TR E o T (] m wﬁm 0 e it
5] T 2 A (5) w A (5) s T (5) Nt Attempted
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81. frefafaa & & wRawr #1 F-0 7= fieh Fa | 81

wronfa ® g
(1)
2 T™

(3) v %T"‘"D
\or” vt
{5) = e E oA

B2. witarn o= d wem avy w Tt P E

(1" 6
\ars 2

3 & % ‘

“ 7

(5) =R T &=

83, T Wi Wi WA g g fwet gy i
8-St 3 gl e w5 o e el = aifirifm

faram = & 7
{1 4
(2 5

@) 2

. O
w3 W,

(5) IwrEE e AR

84. N fam fae § fewa 2

\y—"TeEm

is associated with Mewat tribe ?

{1} Phag

(2) Gugge
(3)  Dhamal
{4) Ratvai

(5] Not Attempted

82. How many Rajva Sabha seats does Haryana

have ?
1y o
2 5
(3) 8
M)

{5) NotAttempted

83. Mukhya Mantri Pragatisheel Samman Yojana
is to motivate the progressive farmers for
adopting best agriculture practices Ip how
many categories of land holding ? s

(1) 4
@ 5
3 2
4 3

(3) Not Attempted

B4. In which district is Narnaul situated ?

(1) Mahendragarh
(FINR M y Pi (2) Rohtak
(3 fofe (3) Jind
[4)  Waw (4  Kaithal
(5) oA T A | (5] Not Attempted :
VNATH/F1 T % RerC 22me1 / SPACE FOR ROUGH WORK Page 18 -

Which of the following dance forms of Haryana 1

=

a5, Frafafea sl o fran =it

BE. Consider the following statements ;
(A} Tt e s ¥ 8) (&) NWada Sahib Gurudwara is situated in
e TEpr T T F A Se
- w g 3 B) Nada Sahib Gurudwara is situated on
arfaa 8 A FE.wy W was v #E ) the bark of river Ghaggar.
() (A) 3t @) A Which of the above statements isfare
(20 A9 (A) AR (R g el
(1) Both (A)and (B)
@)  FEE(A) D (2)  Neither (A) nor (B)
\ U~ FEE (B) Pjn.b ! 3 (A)only
(5) I AR (4 (B} enly
15 Not Attempted
86. AN nfwensii gro geredt ween w3 few wm 8 i
o 2 86. Boojali, an ornament is worn in which part of
the body by women in Haryana ?
(m w® (1) Foot
(2 W= (2} Nose
\,BF/W %' C' {3 Ears
@ W {4} Forehead
) o ek (5) Not Attempted
87. Frefefeaa sl v e i - 87. Consider the following statements ;
: Al o e Sl S (A) Rohtak has a Police Commissi te
. A e g s f - located there, i e
| HrivE § gfem sty fam 8 (B} Sonipat has a Police Commissionerate
aE § & dh-w A w e PN ks,
() (&) she e 2 :u'hil:h ;;f the above statements is/are
@ (A) 3t # (B) (1)  Both (A} and (B)
(3) FE () 'f’N’G’ . 8 (2)  Neither (A) nor (8)
4) m (B) (3)  (A) only
(5) T AE & Al i
(5) NotAttempted
88.
Foret Rt 3 wrcha refte von Rrvaferers e #7 | g8, 1n which district is the Indian Nationa
(1) wieEr Defence University located ?
() T (1) Faridabad
" M " C/ [2) Kamal
\Ji] \ T (3} Panchkula
(4) TE™ (4)  Gurugram
(5) < & AT (5)  Not Attempted
VNATH /F1 7 @7l & 10 2211 / SPACE FOR ROUGH WORK



In the Mahabharata period, which term way

89, m wra  wimm % fom fpg v w oo faem | 89 e fos- Hazyana ? T remm— i SN 13 '93.  Who was the author of epic Mahabharata’ ?
i i (1) Harivala (1) wefd s ‘;’ :‘h’"":_‘ :"1’““"'
@ .ﬁ 2 Haryanak LU el dgem % :3: Magh i
.S) (3) Haribanak o s (4) Kalidas
(@) Bahudhanyakya e (5] Not Artempted
g 51 . Not Attempted (5wl e
£l p
= 5) m-ﬂhm. =) 94, FPrefafos § @ fear oftaom =1 sl @ e 29t | 94, Who amongst the following did met play for
y : . ; ol wen w7 Haryana in Rangi Trophy ?
90. sy’ Wi wrarm # farw T W k2 90. Oun’ berrage is on which river in Haryana 7. (1) T i (1) Rajinder Goel
(1) + il (1} ‘Tangri @ e C ) Sarkar Tiwer
S ) ovo Cor e Yt g
o m  po-B - -
R {4 Sahiba (5) T A A
41 wfEsn .
(5] Not Atternpted 95.  Consider the following statements about Gross
(5] = 95, WWWW ot o ) i) iy Bredafan State Domestic Praduct (GSDP) «
Al T faEn e (A} GSDP of Haryane is more than that of
o1, Py wusil w frat Wi 91. Consider the following statements : ) fi T R TR L S - Bihar.
- b 1o i Y
e k i (Al  Sanipat and Jhajjar share border with EaCes ) (B) GSDP of Punjab is more than that of
A ;ﬁ’ﬁ"m wE ] H e % g w Delhi. . . ) mwﬁvﬁﬂmﬁiﬂmﬁﬁﬂ ~ Haryana. :
| _ (B  Rohtak does not share border with Delhi, TR - W*’ e el ‘“ s Whlc:‘ ;.-f the above statements is/are
(B) e i T feel /o el Which of the above statements is/are " Wﬁ-ﬂm G‘!i@%llﬂ@?ﬂ? e {1 ) Hoth (A) and [(B)
e 3 | w-wR wewh 82 cotroct ? (1) (A of () & (2)  Neither {A) nor (B)
(1) (A ot (B) S (1) Both (A} and (B} (2) A (@A) A (B) (3 (A)only
@ WA AR (B (2) Neither (A} nor [B) W T (A) W C, (%) {B)only
\ 3 e ) (3) (A only 4 FEam) (5)  Not Attempted
. C‘ 4]  (B)only {5 3™ TH T ard :
4 FEE (B S R 96. Consider the following statements in respect
(5)  EE A R AT ) i 96, UWW"B# (w v oft) & Haly o Frafafon 4 of Rational Security Guards (N56) :
W e TR 2 {A) gpemtinnaj Headquarter of NSG is in
ANESAr.
. 1 . ich month of the year, the famous A W w1y aEEeH §
92. =i % few Wi 4 wheg gors ¥ w s | 03 0 Whie y i W wree b i ' {B] NSG comes under the control of Uni
m o Lt T R e A B) T N e e & P Ministry of Home Aflairs. iy
. : IogEs ¥ | WA wer g 88?7 Which of the above atatements is/are
{1] 1} Qctober correct 7
\A-?I’ % ¥ (A) ot (B
o 5 M @ T e ol
= [ T
e (3 March = % A ) L (
[4: femvan {4) December (@) FEE(m) @ (Bronly
(5) o el e vmed | {3 Not Attempted (5 I Al (5)  Not Auempted
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87. i <l forr e % forg g 47

(1w

2) et
(Vg o pw,.c.
4w

(5) = T & R

98. ﬁmﬂﬂmmgmmquqt?
(1) Im=F gy
(2) o =gy

WW‘F’W wc

4 ufem sfsit
(51 I el ¥
99. IR Mt sif wuita wiw i e ¥ R

R agr

(1) Temm

2 fiig

\ Br ﬂh’!"c’

4 famn '

(5) I A & A

100, freifafes § & 2 wfean te w1 vatE, 7 ol

ECEiCEh ik o)

(1) &t qm ==

(2) 41 =g = ’9

(3 o t= faw Q‘b

\wr~ &t e

(5) I & @A
-00o0-

VNATH / F1

97. Garima Chaudhary is well known for whicy,
sport ?
(1) Wrestling
(2) Archery
(3} Judo )
(4) Kabaddi
(5] Mot Attempted

98. Which amongst the following is the State Tres -

of Haryana ?
(1} Mango Tree
(2} Sal Tree

(3) Banyan Tree
{4) Sacred Fig
(5) Not Attempted

99. Indira Gandhi Super Thermal Power Project
is situated in which district of Haryana ?

(1) Hisar
{2) Jind
(3) Jhaijar
(4) Sirsa

(5) Not Attempted

100. Who among the following is the Minister of

Environment, Forests and Wildlife of Haryana .

State ?

(1) Shree Mool Chand Sharma
(2)  Shree Dushyant Chautala
(3} Shree Anil Vij

(4) Shree Kanwar Pal

(5) NotAttempted
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